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O00a:R—>ROC'O0OO (r>3)0 [(t)] =1 (Vt)DO00D00O{k(),7(t), T(t),N(t),B(t)}
O o0 Frenet-Serret D O OO0 O

1. k(t)7(t) = —(T'(¢),B'(t)) D00 00000 Frenet-Serret 0 0 0 (1), (3)00

2. k(t)=0 (V)0 0000000000000 000000k=|T|00
3. a(t)=|y@®) |Dy0OO0D0OO0O00OO000O((t) =|2"0)y"(t) —2")y ()], 7(t) =00000

4. 000 wv,weROOO0Ouv,w=(uxv,w)00O0Ou,v,wOOOOOOOO
(1) [u,V,W]:[V,W,u]:—[V,u,W]DDDDDDDD(uXV,W>:det(u % W)DD
(2) k(t)*r(t) = [/ (1), (t), (1) 000000000 =(B,NYODOOODOOOO
5. ) 000000000000 r>000000000000
(1) (@,a) =00000 (o, T) =0, #{a,N) = —10000k(t) 0 (#) 0000
000 7(t)#£0 (V) D00000pE) =1/k(t), o(t) = 1/r(t) 0000
(2) (o,NYOOOOOOOOOOO (o,BY0 p0 c0000
(3) 00000000000 0a=—-pN—-peBOOODOOODOOOOOOOODOOODO
(4) |a®)|=r00000p)*+ (p(t)e(t)*=r*0000

6. 00000000 uw#4000000(T(t),0)0000000000w00000000O0O0
O (general helix) 0 0 00O

T coswt 0

1

(1) 000 a(t) = | rsinwt | (w=——)0u=|0|0D000000D00OO000
N 5)

hwt e h 1

00000000000000000000000000

(2) 0000 |u=1000000uw000000000000k()#0((V)00000
DD%G%L@DDDDDDDDDDD@WLQ:ODDDD

(3) (T(t),w)=k000000000000000000000u=aT+b0N+cBOODO
a,b,c0 kKODDDOODOOO0=(N(),uy 0000000

4) 7(t)/s() 000000000000
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